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T.E & SCERT Exam 2023

(CANDIDATE RESPONSE SHEET)
Roll No
App No
Name
Paper/Subject D.El.Ed(Santali)
Exam Date 30 May 2023
Exam Slot 1

Passage:
The questions are based on a short passage. Read the passage below to answer
the questions. Choose the correct answer from the four listed choices.

India tested its Agni-V intercontinental ballistic missile (ICBM) in its final operational
configuration from Wheeler Island off Odisha on Monday, paving the way for its eventual
induction into the Strategic Forces Command (SFC) after user-trials.

While the 17-metre tall Agni-V was tested in an "open configuration"” in April 2012 and
September 2013, the third test in January 2015 saw it being fired from a hermetically sealed
canister mounted on a Tatra launcher truck. The missile's canister-launch version makes it even
deadlier since it gives the armed forces requisite flexibility to swiftly transport and fire the
missile from anywhere they want.

Once the Agni-V is inducted, India will join the super exclusive club of countries with ICBMs
(missiles with a range of over 5,000-5,500km) alongside the US, Russia, China, France and the
UK.

The Indian defence establishment believes the Agni-V is sufficient to take care of existing threat
perceptions. As earlier reported by TOI, DRDO has ‘also done some work on developing
"manoeuvring warheads or intelligent re-entry vehicles" to defeat enemy ballistic missile defence
systems, as well as MIRVs (multiple independently targetable re-entry vehicles) for the Agni
missiles. An MIRV payload basically means a single missile is capable of carrying several nuclear
warheads, each programmed to hit different targets.

Meanwhile, the President of India Pranab Mukherjee has congratulated DRDO on the successful
test-firing of intercontinental ballistic missile - 'Agni-V'".

Question ID:1011
Topic Name:SECTION-I English Language

Ql-lllscsl;;any countries, according to the passage, other than India have missiles having range as
Agni-V does?

A Three

B Four

€ Five Correct Answer

D More than five

Answer Given By Candidate:Not Attempted

«
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Question ID: 1012
Topic Name:SECTION-I English Language

Question: \What according to the passage is the role of “intelligent re-entry vehicles"?

A To defeat enemy ballistic missile defence systems Comect Answer

=~}

To save fuel cost during the journey

®)

To reduce the weight of the payload

=]

To carry more war-heads to meet threat perceptions.

Answer Given By Candidate:Not Attempted

Question ID:1013
Topic Name:SECTION-I English Language

Question: \What according to the passage makes the missile ‘even deadlier’?

A Not more than five countries in the world have such advance missiles at present

B It can reach up to remotest part our chief adversaries, i.e., China and Pakistan
Missile's canister-launch version makes it flexible to be swiftly transported and to be fire
from anywhere Correct Answer

D None of the above

Answer Given By Candidate:Not Attem pted

Question ID:1014
Topic Name:SECTION-I English Language

Question: \nhat is the synonym of “Abstain”?
A Refrain Correct Answer

B Consume

€’ Take in

D Devour

Answer Given By Candidate:A
Question ID:1015

Topic Name:SECTION-I English Language
Question: Galact the correct synonym of “BEWILDERED”.

A Aware
B Clear
(0
Baffled Correct Answer
D Calm

Answer Given By Candidate:Not Attempted
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Question ID:1016
Topic Name:SECTION-I English Language

Question: What is the Antonym of “Terrible”?

A Awful

B Fearsome

€ Dreadful

D' Delectable Correct Answer

Answer Given By Candidate:D

Question ID: 1017
Topic Name:SECTION-I English Language

QU™ Eind the meaning of the idiom/phrase: “Apple Pie Order”
A" In random order

B Related to fruits packing

€ Related to dry fruits packing

D

In perfect order Correct Answer
Answer Given By Candidate:C
Question ID:1018

Topic Name:SECTION-I English Language
Question: ch50se the correct meaning of the idiom, “Roll up:one’s sleeves”.

A Keep something secretive

B Prepare to work or fight Correct Answer
C Treat someone as a celebrity

D Speak out the thing that is worrying one
Answer Given By Candidate:A

Question ID: 1019

Topic Name:SECTION-I English Language

Question: 1 ,sert the correct article in the blank given:
Are you ___ engineer from the gas company?

B the Correct Answer

C a

=}

No Article Required

Answer Given By Candidate: A
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Question ID:10110
Topic Name:SECTION-I English Language

Question: Fil| in the blank with the correct preposition.

Will you play cricket me?
A in
B on
¢ at
P with Correct Answer

Answer Given By Candidate:Not Attempted

Question ID: 10111
Topic Name:SECTION-I Education and General Awareness

Question: Navodaya Schools were set up as:

QERNQ0 FQURAYTS YRIR YITS 6LIRAR:

A Residential Schools
219199 TR

Correct Answer

B Day schools
QAT FQUIR

C  Evening schools

ARYIRIME QIR

D Part-time schools

JaAML-LA QYR
Answer Given By Candidate:A

Question ID: 10112
Topic Name:SECTION-I Education and General Awareness
Question: PM-POSHAN scheme is primarily meant to:

PM-POSHAN (01¢] 62196 621G JSIUESE QgmEle 265"

A Provide free school uniforms in Government schools

AR FQYIRACR NS @G‘ﬂ’d 6ol

B Provide free text books in Government schools

2191 SYIRAER FIGIEN AI0Y F9a 6AIFIRS

C Ensure mid-day meals in Government schools

AR FQUIRACR FRIIE 6NN REE 209G

Correct Answer

D Ensure transportation to reach Government schools

oIS TQUIRUCR T8ESI QIR AIGIAG 0R9ae
gaae aog

Answer Given By Candidate:D

‘

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

BPEIQ AA8 GF QA g4 Q9 AN

Download “Tech Of World” App

Question ID: 10113
Topic Name:SECTION-I Education and General Awareness

Question: \y/hat converts the alternating current (AC) into direct
current (DC)?

2AMTACRT° FERY (AC) § QAR FEQE (DC) 6Q
@9 9QéIe FER?

A Rectifier
6T

Correct Answer

B Transformer
gIgEreQ
C Battery

QU6

D Dynamo

BloIee

Answer Given By Candidate:A

Question ID: 10114
Topic Name:SECTION-I Education and General Awareness

Question: \\/hat is “Sahityotsav”?
'ALERUILS" K'61?

A Festival of authors

Emolaa Qe
B Festival of writing

6mYS! din QLR

C Tribal writers meet
2SN MR ARARG1

D Festival of letters

0 Q@9

Correct Answer

Answer Given By Candidate:C

Question ID: 10115
Topic Name:SECTION-I Education and General Awareness

Question: \which body authorizes nuclear retaliatory attack in India?

689 9°gl AINSER ARG A6 T8
AL 69maNg?

A Ministry of Defense

geodl gélna

B Nuclear Command Authority
doEllg] AeleQs di)aél

Correct Answer
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C Nuclear Wing of PMO
PMO @ diellg] SISl

D The President
@Iﬂ:ﬁ]@

Answer Given By Candidate:C

Question ID: 10116
Topic Name:SECTION-I Reasoning
Question:

Read the statement given below and select the best assumptions from the options given
Red haired people love riding bikes.

Assumptions:
l All people love riding bikes.
Il. Red haired people only love riding bikes.

QY6 QAUINYS! T9E UL Y8° GRS Sagee RIQ A6RIRE AR A
L

@l 6941 291 EMKFNER AURR CRINIG QW AL |

Agela:
l. 419 6l QNG oMY W al2lg |
Il. QIm 694l 2lQ EMINCNER 699N QNS OMIMSIG Lim dl2Ng |
Only assumption | is.implicit
698R dadl 1 ASREe 265
Only assumption Il is implicit
6aen MIQdl Il ALHEE 26T

Either | or Il is implicit

| @€l 1| ALELE 26T

Neither | or Il is implicit

| @6< @l Il 2ASGEE g6T

Correct Answer

Answer Given By Candidate:C

Question ID: 10117
Topic Name:SECTION-I Reasoning

‘
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Question: |n g certain language, ‘HARMONY’ is written as ‘FCPOMPW’ and ‘MELODY’ is written as
‘KGJQBA’, then how will ‘RHYTHM’ be written?

99 CEY QUEIER 'I6EIR" 'FCPOMPW! 9Q° '6¢16MIG" ' KGIQBA' RIFES.
6MBILN, 66969 QAR 69716 6MONIS?

A PJWVFO Correct Answer
PJWVFO

B PFWRFO
PFWRFO

C PFWVIK
PFWVIK

D PJVWFO
PIVWFO

Answer Given By Candidate:A

Question ID: 10118
Topic Name:SECTION-I Reasoning

Question: |n certain language, TOGETHER is coded as OTEGTHRE, how is VALIDATE coded in that
code?

PR UMD, 26919 VFEH 6T FAULNY, 69% LETEER FUR LETS
aoUdINg?

A AVILADET
AVILADET

B AVILDAET
AVILDAET

Correct Answer

C AVILADTE
AVILADTE

D _VADALITE
VADALITE

Answer Given By Candidate:B

Question ID:10119
Topic Name:SECTION-I Reasoning

Question: \What should come at the place of question mark (?) in the following
number series?

71,55, 46, 42, ?
FIAMEIS A°61Yl 661616 JHUTE (?) AIFER @6l A1 ATG?

71, 55, 46, 427

A 40
40

‘
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B 41
41

Correct Answer

¢ 39
39

D 38
38

Answer Given By Candidate:A

Question I1D:10120
Topic Name:SECTION-I Reasoning

Question: What should come at the place of question mark (?) in the following letter
series?

Q,M,ILE,?
FIRGS 290 68416 96T (?) HIN6A §'¢l AT AGS?
Q,M,IE?

A C
C

B B

Correct Answer

Answer Given By Candidate:C

Question ID: 10121
Topic Name:SECTION-I Teaching Aptitude
Question: A teacher can enjoy teaching as a profession when he/she:

@68 A 2RIIRIG 98 96 NER LUERIT FAUIRES 6L6LE6R 64

A Seeks respect from students

BlEBIL1E OIf L4l dIm6S

Correct Answer
B Ensures strict discipline in the class
65616 @l §)HPmI %ﬁ@@ L]

C Has better qualification than his/her peers

Gl (AERI/IQY) ANFIeE GRFIER QM 6LITNG| QG

D |s close to the Principal/Higher ups
dRaIn/e0ee 2N FRIER 2SS

Answer Given By Candidate:D

‘
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Question ID: 10122

Topic Name:SECTION-I Teaching Aptitude

Question: Yoga is popular but it may not be suitable for everyone. Before you sign yourself
up for a yoga class, you need to examine what it is you want from your fitness
routine. If you're looking for a high-energy, fast-paced aerobic workout, a yoga
class might not be your best choice.
This paragraph best supports the statement that:

6<%l 6RKT A Gﬁn‘@ gl 9919@ AR QD 6LIMAUIED | 26l 64Iol |l €l|6\f
g‘ﬁ?‘ﬁj_ diwg 24 Al q@@, 2idél & el @"6‘6991‘ @@9 Q 2Idél @6l ngﬁé
GIEl dI% @QQI 2G4 | T 28 99 A 69, 9o oo 6N QI
681@8@, 6963 649 RIF 2VIFRQ 6T AL 6LIRRUNER |

4@ 2968 9T 9909 d65Iar 9912l K69 641:

A yoga is more popular than high-impact aerobics.

@F Q1 I6UAG 26U 6€1Io] 2@ 6MaTe: |

B You need to check on your fitness needs and routines.

206G AT FPIERY RG] 99° QTR UG KRR 2SR Correct Answer

€ Yoga is suitable for everyone

646l 9E19E IR AAYS

D yoga benefits your body and mind
649l 2IddlE IR B €199 PIND] 692N

Answer Given By Candidate: A

Question ID: 10123
Topic Name:SECTION-I Teaching Aptitude
Question:Models, charts, film strip, projectors are:

(68, 01, TR Vg, 6KI6R/RER 6TMI:

A Intellectual Aids
6QI6e dLl0e!

B |ntelligent Aids
98clIg ALUIAC!

C |nstructional Aids
SINITS DLING!

D Tangible Aids
2Iggsiel ALl

Correct Answer

Answer Given By Candidate:D

Question 1D: 10124
Topic Name:SECTION-I Teaching Aptitude
Question: The primary responsibility for the teacher's adjustment lies with:

fNeE AICFL6ALR 12T QNG 6LQ8:

A The Friends

°q

‘
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B The head of Department
aelgl &5

C The teacher himself
9@ Q6

D The School
QQYImeL

Answer Given By Candidate:D

Correct Answer

Question ID: 10125
Topic Name:SECTION-I Teaching Aptitude
Question: Which of the following information are important to

motivate the students for studies?
FINEIC FRIQ 68 Y67 |ISFIFF 2RUAR IR 698S
*AQl AR gReged?
A Learning style
S19& 68lm

B Teaching Strategies
FKQIR AEINMG

C Socio-cultural background
AIRR-A°YE R YIRS

D All of the above
WUEoIW L1

Answer Given By Candidate:B

Correct Answer

Question ID: 10126
Topic Name:SECTION-I Teaching Aptitude
Question:To make |learning effective, a goal must be meaningful in

terms of:
fFEG gRULHIRT *AQI AIR, I8 AWY 9T Q8Q 2A2dgq
6€Ql 2IFslYG:
A Obijectives of the curriculum

IO @ewslY

B Intellectual ideas

6QISa SR

C Standards of others
2ayella'er ¢l

D The needs and purposes of students

RIeBLTa 2TIRe B wewd

Correct Answer

Answer Given By Candidate:A

‘
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Question ID: 10127
Topic Name:SECTION-I Teaching Aptitude

Question:By, ‘agent’ we mean a person or thing that acts or exerts
power. Hence
"I6RQ’ QUFER 2l6E G668l QU Q1 BTG 9HImelQ O9 Iy KR Fall

/Gl 6L 6D | 60¢]

A agencies of education are those factors which exercise an
educational influence on the child.

SINIR Y60, 6B 69 KINE ALl ANATER NGNS ARG ARl | Correct Answer

B agencies of education are those factors which is a non
influencer.
SRR \EIGG?EQ, 6LQR 69% QG Il 99 28-9ULdiat 2168 |

C agencies of education are those factors which has a negative
influence on the learners growth.

JRAR Y68, 690 698 19T gl el RS AR TR
Jeue AKIRelN |

D agencies of education are those factors which is not
mandatory.

JRIR Y6RTHER 6908 69T Flam AIg SRISIRT §6% |

Answer Given By Candidate:A

Question ID: 10128
Topic Name:SECTION-I Teaching Aptitude
Question: Sty dents do not monitor and judge theirlevel of

understanding of concepts or regulate their learning
effectively. Identify the best strategy to improve.

21226 MAGIYFRR FEFIN I9G FNVE KO QT 9G° TR KRG
QIE @9 ceIeE V69 JRISSIR QTR FATE 998 Q1T | 96 IR
6IRE REG TS a0 |

A SWOT (Strength, Weakness, Opportunity and threat)
Analysis
SWOT (1%, Qﬁ‘ﬁ?@l, geidiol 99° QUY) 69,96l

B Self-Awareness

2I¢]-469C 6!
€ Meta Cognition
6419 HIQ

D All of the above
@QIEU L1

Answer Given By Candidate:D

Correct Answer

‘
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Question ID:10129
Topic Name:SECTION-I Teaching Aptitude
Question: Students have a certain level of fear about a topic or interpret the

teacher’s behavior as being unsupportive of their learning, resulting in

some degree of mistrust. The correction of this act can be by:
RILRISIFNES 6168 TULG 699 Y7 TG IO Qg TS Feul Faa
25061q 696G S86 96 2912] 691R QUINYI 998, AIFICPRER @S
clgleq 294Ig QQ- ey | 4G 21900 2°65IRIS 9€] IR 6LIRAIER;

A Giving constructive Feedback

10Q¢)ma (191El% 6%Ql

Correct Answer

B Listing few mistakes
oo g@ QI@%‘I@@ @QQ|
C Adding remarks

1294 64IGS

D Comparing with their peer work
edelliem deadha qldy 996 SRl aQS|

Answer Given By Candidate:A

Question ID: 10130
Topic Name:SECTION-I Teaching Aptitude

Question: Tagching learning materials should be selected according to:
S8 SiA6l AlFIgh 698 2AgAlM 948 @IS AFE:

A Their availability
LR m R YdmMYe!

B The objectives of teaching
G AEREY

Correct Answer

€ Their cost effectiveness

64RO ()mY PRYLE!

D Student’s Interest

2BloRL1a 29

Answer Given By Candidate:C

Question ID:10176
Topic Name:SECTION-II Santhali Language

Question: 7). 34 G2).(¢ OV DOZLO) BLAOQN NZ2LCAGE
UZ2EZ20 822 bALd?

A .00 296 Correct Answer
B (DZY2ZP 296

C W07

D 0229
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Answer Given By Candidate:C

Question ID:10177
Topic Name:SECTION-II Santhali Language

Question: )GN0 @2 2.42). NZEAT 0 DACEC d2Z
PACAH02G-27?

A Q2P N2

B DA DZ  Correct Answer

C 022U N2

D 9.329). 32CAZ UALNAZ 8ADA OAdU ¥2

Answer Given By Candidate:A

Question ID:10178
Topic Name:SECTION-II Santhali Language

Question: Y DGZE D 2.39). NZEZAT 20 DACE 2
PACH0ACE-2?

A PV N2

B O2(caU N2

C 0P 2 Correct Answer
b PO NARED 32

Answer Given By Candidate:D

Question ID:10179
Topic Name:SECTION-II Santhali Language

Question: ()Y'GZE D 9.49). NZL AT 0 DACEH X2
PACN02GE"a?

A Q2P 2

B O2@dU 32, " Correct Answer

C PV 32

D 2.39). 323 OACAU 8BADA PAWD 32

Answer Given By Candidate:D

Question ID:10180
Topic Name:SECTION-II Santhali Language

Question: yANJIWNY 9).39). ¥Z 0D’ GZE 92 209 AL Y)?
A KA

B LAWY

€ R Correct Answer

D 230

Answer Given By Candidate:B

Question ID: 10181
Topic Name:SECTION-II Santhali Language

Question: OARUAL 2).39). 32 DEH0 22 20 DAL D)?

‘
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A 0Ad Correct Answer
B (JA®

C A3UA®

D 2@

Answer Given By Candidate:B

%‘peiseﬁ::;][:::;glcﬂglorq-ll Santhali Language

Question:()A(D DN 9).49). N2 LIGCZE @ LD LALD?
A ()9

B 2%

c O9 Correct Answer

D Q23

Answer Given By Candidate:B

Question ID: 10183
Topic Name:SECTION-II Santhali Language

Question: (NHEA A.49). NZLRAE UA® UZEZ20 9.39). 92 202
baLd?

L VANVAC]

B DAY

C Uv89.9 Correct Answer
D gRZON0O

Answer Given By Candidate:A

Question ID: 10184
Topic Name:SECTION-II Santhali Language

Question: (JAQ UZLZ0 NEAE 9.49). 2 202 02 U206
bAaLd?

A DR 2.29). b NZRAE UZEZ0 UA2 DA
OF) (WA A7)

B DAV 9.29. 02 NZRNE UZLZ0 UAR €2  (orrect Answer
0AWZ'EN

C PAWA 9.22. 0 NZRAE UZEZ0 DPNY). OAWZED
D DAV 2.49). b2 NZ2EAE UZEZZ0 DA DINOAC- D)

Answer Given By Candidate:B

Question ID: 10185
Topic Name:SECTION-II Santhali Language

Question: Y 9).42). 32 NG YPND). 9).29). 29 202 LALA?

A @90
B OADZd

‘
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c 092p
D NQZPAY Correct Answer
Answer Given By Candidate: A

Question ID: 10186
Topic Name:SECTION-II Santhali Language

Question: A ()ZD @9 902 0A.NAL 9.29). DAL Y?
A DALY

B 9Ha%U

C QYEBU  Correct Answer

D GHEDE

Answer Given By Candidate:A

Question ID: 10187
Topic Name:SECTION-II Santhali Language

Question: H 774 @9 202 BN.NAK 9.329). OALY?
A QOEOLU

B DALY

C Gheve

D HQ%U Correct Answer

Answer Given By Candidate:A

Question ID: 10188
Topic Name:SECTION-II Santhali Language

Question: §9) 2 @D 0 LA.NAL 2.39). DAL ?
A QbeLU

B GOHEYE

C DALV «Correct Answer

p D4a%U

Answer Given By Candidate:B

Question ID: 10189

Topic Name:SECTION-II Santhali Language

Question:Z¥ZPD @92 20 UAN. DAL 9.39). DALD?
A GOELE Correct Answer

B QYELU

¢ Havu

D DALY

Answer Given By Candidate:B

Question 1D: 10190
Topic Name:SECTION-II Santhali Language

Question: Y AL ONEA AL D4 PZOAOZ 9.49). 32 A6 U.NAL
2 0A22).G 0QL ¥Z WA.NAQ AOAHLD?

A DNE Correct Answer

‘
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B 7A32.0
c U202
p O3V

Answer Given By Candidate:B

Question ID: 10191
Topic Name:SECTION-II Mathematics

Question: » Tv i purchased at Rs. 55000 and sold at Rs. 77000. Find the gain percentage.

6915 G'& 55000 SRIER @I IS° 77000 TRI6R &G §9 | MR YoOIE
I8 @G

A 20%
20%

B 40%
40%

Correct Answer

C 14%
14%
D 28%
28%

Answer Given By Candidate:Not Attempted

Question ID: 10192
Topic Name:SECTION-1I Mathematics

Question: 53im borrowed Rs. 15000 from his friend, at simple interest, at 8% per annum.
He returned Rs. 19800 to his friend. How long did Salim take to return the

money?

e Sie AFOIR QTG 8% Y6R 15000 TF| A6 FARIEMI 69 Sl g
19800 GF 6EPQIR 6QR6R | T 6PARRI IR ARG 6966 A1
RUTRI?

A’ 5years
5 of

B 4vyears

499

C 6years
6 a4

Correct Answer

D 3years
3qd

Answer Given By Candidate:Not Attempted

Question ID:10193
Topic Name:SECTION-II Mathematics
Question: The compound interest on Rs. 5000, at 10% p.a. for 2 years is:

2 of QIR 95 QI8 5000 9@ QLR 10% G ol 62QE:

‘
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A Rs 550
Rs 550

B Rs 1000
Rs 1000

C Rs 1050

Rs 1050 Correct Answer

D Rs 6050
Rs 6050

Answer Given By Candidate:Not Attempted

Question ID: 10194
Topie Name:SECTION-IT Mathematics

Question: \Write a number which when divided by 4,12 and 16 leaves 7 as the reminder.
@ 964l 6melg dILIg 4, 12 99° 16 60! EIB AAAUCIEM LUSIEEI® 7
QALQ |
A 16
16
B 48
48

C 55
55

Correct Answer

D g

Answer Given By Candidate:Not Attempted

Question ID:10195
Topic Name:SECTION-II Mathematics

Question: 1., vessels of milk contain milk and water. The first vessel contains 75%
milk and the second contains 50% milk. Calculate the amount of liquid to
be mixed from each container to get 12 litres of mixture, such that the
new ratio of milk and water is 5:3.

IRE MR IS 60 V1o @ ISl QLN | gl ALER 75% MR YS!
6960 §01 UIS6H 50% A QG2 | 12 PEQ F68 AR AR

654 CIgQ Fgé 6€91q 29l SaR AQIZa AACNE 80 AR, 64190
@ MR 99° KRR GO0 QIS 5:3 QLS|

A 4L 8L
41,81

B 6L 6L

61,61 Correct Answer

‘
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C 9131

9L, 3L

b 5L7L
5L.7L

Answer Given By Candidate:Not Attempted

Question ID: 10196
Topic Name:SECTION-I1 Mathematics

Question: ) 2 mixture of 100 litres, the ratio of petrol and diesel is 7:3. If 200 litres
of diesel are added to the mixture, then what is the new ratio of petrol
and diesel?

100 AR G460 606gIR 8 TEARA 2GS 7:3 Q&R | AT Fgaea
200 AYR B6aM FGIAN, 6669 696gIA 99° F6AAR 9O AGIS
6@6% 6297

A 45
4:5

B 7:23
723

Correct Answer

C 5:8
5:8

D 917
9:17

Answer Given By Candidate:Not Attempted

Question ID: 10197
Topic Name:SECTION-IT Mathematics
Question: In a triangle ABC, if angle B = 90 degrees and AB = 5 cm, BC = 12 cm, then AC is:

I@ GRQ ABC 6Q, A% 69161 B = 90 @91 99° AB = 5 cm, BC = 12 cm, 6969 AC 620&:

A 1lcm
11 cm

B 13cm

Correct Answer
13 cm :

C 17cm
17 cm

D 25cm
25cm
Answer Given By Candidate:Not Attempted

Question ID:10198
Topic Name:SECTION-II Mathematics

Question: \What is the sum of the interior angles of a hexagon?
46 9900 ARNSR 6RIGgGIN LR 6966?

‘
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A 180°
180°
B 360°
360°

C 540°
540°

D 720°
720°

Correct Answer
Answer Given By Candidate:Not Attempted

Question ID: 10199
Topic Name:SECTION-II Mathematics

Question:\Which of the following is not a three dimensional figure?
g‘ﬁ]ﬁﬂ%ﬁ@ 11 6QQG LeIeR 0% EGQJ?
A Cube

1A1%

B Cone

Aele]e ol
C Trapezium o .
ﬂl@@ﬂﬂ Correct Answet
D Cuboid
Wa'olE Yl

Answer Given By Candidate:Not Attempted

Question ID: 101100
Topic Name:SECTION-II Mathematics
Question: \Which of the following is a linear equation in one variable?

QINES FRIP 6265 IGR ORER IR 6T9R 699 ANRNE 21667

A x283x-1=0

2x2+3x-1=0
B 3x-5=0 Correct Answer
3x-5=0
C x*+5x+6=0
x> +5x+6=0
D S5x+6y=7
S5x+by=7

Answer Given By Candidate:Not Attempted

Question ID: 101101
Topic Name:SECTION-II Mathematics
Question:Which of the following is not a linear equation?

FARGS RIQ 6966 9T SRER 9% 654R U699 AMGRE G6L?

A S5x+2y=6
5x+2y=6
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A »
=5 Correct Answer

C 4x-5y+7/z=0
4x-5y+7z2=0

D 9x+3y=7

9% +3y=7
Answer Given By Candidate:Not Attempted
Question ID: 101102

Topic Name:SECTION-II Mathematics
Question: |[f A and B are two sets such that A < B, then which of the following statements

is true?
A ANG° B QE{@ 64q 649G A © B, 6606Q i‘ﬂﬁlﬁl@ @Q@SE‘G‘ 1255 69@\.‘@
«sYy?
A A and B have no elements in common

ANQ° B Q 69168 QUIQIS IS Q1T

B Aisasubsetof B
A 6208 B 9 Ya Qa69e Correct Answer

C Bisasubsetof A
B 6RO A Q 9@ Qdedd

D A and B are equal

ANQ9° B 9AIQ 29Q

Answer Given By Candidate:Not Attempted

Question ID: 101103
Topic Name:SECTION-II Mathematics

Question: \What is the symbol used to denote the empty set?
A8 699 g 4IRSl UIR 609 T QULLIR FAUAI?

A s
A I Correct Answer

{}
o
()
* I
(]
D
/!

Answer Given By Candidate:Not Attempted

Question ID: 101104
Topic Name:SECTION-II Mathematics
Question: \Which of the following is NOT a perfect square?

GERSS FUIQ 699T 9 261 9ol 9622

‘
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A 16

16

B 81
81

C 49

49

D 66
66

Correct Answer
Answer Given By Candidate:Not Attempted

Question ID: 101105
Topic Name:SECTION-II Mathematics

Question: \What is the value of v121?
V121 Q gmY 6@6%"?

A1l
11

Correct Answer

B 13
13

c 14
14
D 15
15

Answer Given By Candidate:Not Attempted

Question ID: 101106
Topic Name:SECTION-II Social Science
Question: \Which of the following is not included in the primate of

hominid?

FIRNYS IR 699G 6LITRER UIRCFTR 2ALHD G6L?

A Chimpanzee

et

B Deer
26|

Correct Answer

Gorillas

Sl
D QOrangutans

BRUGEIIG

Answer Given By Candidate:Not Attempted

Question ID:101107
Topic Name:SECTION-II Social Science
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Question: The “Aranyakas ” and “Upanishads” are mainly appendices
to which of the following?

"RENR" 9G° "QUFHG" (J61Ye8 FIRYS FRIQ 659G

din 2ASHD?

A ;
Brahmanas Correct Answer

QIgd

B Mantras

1]

C Shruti
agé

D Rigveda
ANECQ

Answer Given By Candidate:Not Attempted

Question ID: 101108
Topic Name:SECTION-II Social Science

Question: |n which year was Mangal Pandey hanged to death for
attacking the officers in Barrackpore?

QARYRNEDR 2 RN QAER 2SI Q@EA‘:}‘I ClPm

dicelty 699 9F ePlsh a‘alﬂlﬂejﬁﬂl?

A 1857 Correct Answer
1857

B 1856
1856

€ 1858
1858

D 1855
1855

Answer Given By Candidate:Not Attempted

Question ID: 101109

Topic Name:SECTION-II Social Science

Question: Dyring Sepoy mutiny who was expected to rule the country
if British would have ended the rule?

daIL1 Q69IL A6 IS QTIFleR 98 Goelg DY

FORIEE 6668 64699 @9 FIde @R 61 2l

@oUdlweiml?

A Nana Saheb
@19l dIeLQ

‘
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B Bahadur Shah Zafar
QLY sl KIPR

Correct Answer

C Birjis Qadar
{64 999

D Rani Lakshmibai

QUEN MA@

Answer Given By Candidate:Not Attempted

Question ID: 101110
Topic Name:SECTION-II Social Science
Question: Qn which of the following dates the first meeting of the

Constituent Assembly of India was held?

FIMYS FRIQ 676 FIATER NACR AFME ARUR F2leT
6509 29Ye 6LINMI?

A 9 December 1946
9 G6LLR 1946

B 26 November 1949
26 @6ulFl%l 1949

Correct Answer.

€ 22 July 1947
22 @I 1947

D 13 December 1946
13 Q6L 1946

Answer Given By Candidate:Not Attempted

Question ID: 101111
Topic Name:SECTION-II Social Science
Question: | djan Federal system is related to which of the following

countries?

QUAG1E, €oaND, USE BYRYS FRIR 699 6Q4¢ I8
AAREG?

A Canada Correct Answer
RIS

B United Kingdom
m°mel

C United States of America
4RAUY 2l6E1o!

D |reland
2ImIe

Answer Given By Candidate:Not Attempted

‘
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Question ID: 101112
Topic Name:SECTION-II Social Science

Question: | \which year was the Constitution of India implemented?
AL ARG 699 o QIR 6¢Imelml?

A 26 January, 1948
26 iGN, 1948

B 26 January, 1950
26 @Ig2IN, 1950

Correct Answer

€ 25 January, 1971
25 W2, 1971

D 15 August, 1947
15 2IoI%, 1947

Answer Given By Candidate:Not Attempted

Question ID: 101113
Topic Name:SECTION-II Social Science

Question: \Which organisation of Panchayati Raj system in Rural India
makes developmental plans at district level?

I ARACH IAAGAUR FULLIR 696 L°FI08 QR
46N AGAR MG 640G Y9O Q69

A District Collectoriate

aRIgR

B Panchayat Samiti
ARG D46

€ Gram Panchayat
ollgl d819S

D Zila Parishad
aR A8

Correct Answer
Answer Given By Candidate:Not Attempted

Question ID: 101114
Topic Name:SECTION-II Social Science

Question: \Who js elected by the people in Rural area and sent to the
Block or Panchayat Samiti as the representative of Gram
Panchayat?

FIFIFRR 6MAC6E FILlg FTe 9 gifl AFIASD
geay AUE 98 @€l dglge A86q AoIdN?

A Sarapanch
LNdE

‘

WtsApp/Call- 8596976190



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

BPEIQ AA8 GF QA g4 Q9 AN

Download “Tech Of World” App

B Ward member
@le 9ay

€ Samiti Savya or Nominee to Block
I06 96 Q1 98 dIn F16RING

Correct Answer

D' Naib Sarapanch
NG ddg

Answer Given By Candidate:Not Attempted

Question ID: 101115
Topic Name:SECTION-II Social Science
Question: \Which is the region where evergreen rainforests are found?

69 28R6Q 99002 Qdian 694Qlg F6m?

A Equatorial
CRIGEN

Correct Answer

Polar
&{@919.

C Sub-polar
Q-1

D Temperate

LIdRel

Answer Given By Candidate:Not Attempted

Question ID: 101116
Topic Name:SECTION-II Social Science
Question: “Braad Basket” of the world is:

QREIA "65% QI6AT" 69RS:

A Mid Latitude Grassland
¢1e 2I1°Sl WI<gm

Correct Answer

B Taiga
o' 1Nl

C Mediterranean

RE1IIoI9

D Tundra

Answer Given By Candidate:Not Attempted

Question ID: 101117
Topic Name:SECTION-II Social Science
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Question: Which country is the largest producer of copper in the world?

2919 69 694 Sl QeaRIol 696l ?

A Chile
om

B India
LG

Correct Answer

C USA
2GEIGRI

Australia
e mell

Answer Given By Candidate:Not Attempted

Question ID: 101118
Topic Name:SECTION-II Social Science

Question: The government agency which is responsible for the mapping
and exploration of minerals is:

S8R QLRI HIT° 9Q° 2AG9RNNG QIALER 291 AR Y6RT, 6LS:

A Archaeological Survey of India

QUG GOl 688 FaU!

B The Geological Survey of India

LACR VR AESVE TG

Correct Answer

C  National Mineral Development Corporation Ltd

@I812 SIdle QEAR QOIF RAECE

Survey of India

d6et 2 adall

Answer Given By Candidate:Not Attempted

Question ID: 101119
Topic Name:SECTION-II Social Science

Question: \What would be the IST when it is noon at the Greenwich

Meredian, if the earth’s direction of rotation is reversed?
3119@&? 6C10G 26N flelly 6L6om 2liods] Q@ @'8 699, 48 g2l ‘E]ﬁi‘c? Q9
QEmdN?
A 17.30 hrs
17.30 W<l

B 05.30 hrs
05.30 W&l

‘
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C 18.30 hrs
18.30 W&l

D 06.30 hrs
06.30 L&l

Correct Answer
Answer Given By Candidate:Not Attempted

Question ID: 101120
Topic Name:SECTION-II Social Science

Question: The correct sequence of the given continents in the increasing

order of their percentage of Earth’s land is:

Jole1a QFIQ 98616 9F QF6Q QARSI FLIELgFaa 40] 9F 6LRS:

A North America — Africa — Europe — South America

QARQ 2EFIRR - 2IFRI - PR - VS 26ERR

B Europe-South America-North America - Africa

P6RUT-TE 26EAR-QRQ 2CFAR! - 2T

Correct Answer

C  North America — Africa — South America — Europe

QaQ AR - AIPR! - VS 267D - YEU

Africa — North America — Europe = South America

TR - QAR AI6EAR] - YEAUC - GRS 26!

Answer Given By Candidate:Not Attempted

Question ID: 101121
Topic Name:SECTION-II Science

Question: The process of conversion of matter from solid state to gaseous state

directly without forming a liquid state is known as:

681nel SarAg CoR ARgI6I0e ead aQlly JuI9Rd @06 2SgIg
I 229G QUSRS SRS IFAG GLIAN:

A liquefaction

Qedl

B sublimation

p Correct Answer
AR

C condensation
SIFPIAGTAE

D solidification

2QR190E

Answer Given By Candidate:Not Attempted

Question ID: 101122
Topic Name:SECTION-II Science

‘
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Question: which of the following elements does NOT exist as a gas under normal

room temperature (25°C) conditions?

Fomee QUISIRGES FRIQ 684T ARING 6RO SIALIGI (25 ° C)
29168 GHIY MUNER FQUANR FI1Q?

A Nitrogen
FImeTletWy
B Chlorine

6]I0UnY

C carbon ]
Correct Answer
qlee
D Oxygen
9@l

Answer Given By Candidate:Not Attempted

Question ID:101123
Topic Name:SECTION-II Science

Question: gyaporation is reaction.

QIS geqal 2651

A Exothermic

g6glacia

B Endothermic

Q6Qlekia

Correct Answer

C  Thermoneutral

2eelgusia

D  None of the Above

QU CRIQ 6FIEET G6s

Answer Given By Candidate:Not Attempted

Question ID; 101124
Topic Name:SECTION-II Science
Question: which one of the following reactions is a balanced reaction?

FINYS YETA AR 68QT 9K APRS ATT A65?
A Cd(s) + Oa2(g) - CdOa(s)
Cd(s) + Oa(g) = CdO3(s)

B Cd(s) + Br(g) - CdBra(s)
Cd(s) + Br(g) - CdBra(s)

WtsApp/Call- 8596976190
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C  Cd(s) + Br(g) - CdBr(g)

Cd(s) + Br(g) - CdBr(g)

D Cd(s) + Hz504(aq) - CdSO4(aq) + Ha(g) .
Correct Answer
Cd(s) + H2S04s(aq) - CdSOalaq) + Ha(g)

Answer Given By Candidate:Not Attempted

Question ID: 101125
Topic Name:SECTION-II Science
Question: Which one of the following reactions is a combination reaction?

YRGS JOTA IR 699G 9@ OFe AFFN 2667

A Zn(s)+ Ar(g) = ZnAr
Zn(s) + Ar(g) > ZnAr

B CuSQs(ag) + Fe(s) = FeSOs(aqg) + Cu(s)
CuSQOas(aq) + Fe(s) - FeSOas(aq) + Cu(s)

C  Meg(s) + Cla(g) > MgCla(s) Correct Answer

Mg(s) + Cla(g) = MgCla(s)
D  None of these

QUERUS PRI 6S1GAT g6s

Answer Given By Candidate:Not Attempted

Question ID: 101126

Topic Name:SECTION-II Science
Question: = A - .
A force F = 2.31' + 3.0 N acts on a particle of mass 0.3 kg. We observe

that the particle:is displaced by ds = i — 0.5j.
The work done by the force will be given by:

4@ QR F = 23i4 3.0f N 0.3 kg O 4@ 2871 Qa6Q QI @62 1 26a1
6998 64 RARNIBds = I — 0.5] IR FYITS 6LIRAN|

TR TR ANAINYS ATy FIRYS FIN UG FUDS:

X e r i
W =F +ds
W=F+ds

B o
W=ap.d5‘
W= IFE“

03 %

C W-o03xF.ds

W =03 xF.ds

‘
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S

Correct Answer

|
[

W =
W =

!
a

S

Answer Given By Candidate:Not Attempted

Question ID: 101127
Topic Name:SECTION-II Science

Question: The use of as a source of energy, made the industrial revolution

possible.

3@g QL 816 Q YLLIN A6LUITR FIT6R LAS QRAIRS |

A Petrol
646GIm

B Wind
aeq

C Coal
cqloml

Correct Answer

D Sun

gdy

Answer Given By Candidate:Not Attempted

Question ID: 101128

Topic Name:SECTION-II Science

Question: A student conducted an experimentrelated to motion of a particle. The
particle was moving along the line y=1.0x+2.0. The slope of the tangent at a

point of the velocity time graph gives:

@64 818 98 IR 6T AR I AVE 2AYeM | *ERIT
y=1.0x+2.0 69181l 691 B1& KRR | 699 DI TP IR TGET EFEEZHER
Qe &g

A _The average speed of the particle
REFIR LULIR 699

B The instantaneous speed of the particle
RN LR 699
C The average acceleration of the particle

REFNIA LIALIR L&

D The instantaneous acceleration of the particle
~ Correct Answer
el YRS L0l

Answer Given By Candidate:Not Attempted

Question ID: 101129
Topic Name:SECTION-II Science
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Citastion: ATP molecules are produced in

ATP 2 62 Q9T 949 |

A Mitochondria

i Correct Answer
FlmeIagell

B Chloroplast

ERICTUNUD

Lysosome

MIMELCLIE]

Plastids

ARG

Answer Given By Candidate:Not Attempted
Question ID: 101130

Topic Name:SECTION-II Science

Question: \what is controlled death of a cell that is generally triggered by normal,
healthy processes in the body called?

ARIREICSS SIANEA AURTF, g9 9FA IR & 6262S 6QNVR FAFES
flgig «'8 gelane?

A Necrosis

6a6g1ag
B Mitotic Catastrophe
£6719% QITICRICP

C Apoptosis
EIIGE]IG‘QJQ‘EI‘

Correet Answer

D  Cell Division
6QI8GI SRIGE

Answer Given By Candidate:Not Attempted

Question ID: 101131
Topic Name:SECTION-II Science
Question: The female parts of a flower are:

4@ FAR IR 2°6 §E@ 6Ll

A anther, stigma

AAUIELIE, Il

B filament, style

AACCRNY, Sl

C  style, stigma

%l@ﬁ!}, asuseald Correct Answer
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D stamen, style

RI6AIT, VDR

Answer Given By Candidate:Not Attempted

Question ID: 101132
Topic Name:SECTION-II Science
Question: The movement of a plant in response to an external stimuli is called:

QILY QERRFIR IGTER QRLR ATG FLIAN:
A Optimism
AINRAQ

B Periodism

AGYRIQ

C  Prolongism

mELltdel

D Tropism
6g1a@e

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID: 101133
Topic Name:SECTION-II Science
Question: Xylem vessels are present in

falmemel Q]@Qlﬁl@‘ﬁf _ 6 QUEe 2Ig |
A bryophytes and pteridophytes

IR, 99° 656RICPINT,

B Only pteridophytes
6Q9m Gﬂ@ﬁ@m’l@%

C gymnosperms

@eqIadg

D all angiosperms

aqg 2186l

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID: 101134
Topiec Name:SECTION-II Science

Question: \hich of the following microbes causes pneumonia?
FIRGS FISIGAUR 690G FeCIFA 9T F6R?
A Bacteria

e

Correct Answer

B Virus

QARG
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C Fungus
PoP&l

.

D Protozoa

64I6%'16%wIcl

Answer Given By Candidate:Not Attempted

Question ID: 101135
Topic Name:SECTION-II Science
Question: [y \which causes AIDS, is a type of

HIV, SIZI AIDS 98 K69, 47 9919 26 |

A Bacteria

Qe
B Fungus
‘E}’G?EI‘
C  Virus
ARAS Correct Answer

D Protozoa

cdieglewiel

Answer Given By Candidate:Not Attempted
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